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Time : 1 Hour 15 Minutes

Full Marks : 25

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.
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UNIT-1

1. Answer any five of the following questions:

1x5=5
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a)

b)

c)

d)

Differentiate between epistasis and hypostasis.
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Define linkage map.
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What is allopolyploidy?
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Define geological time scale.
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g)

h)

What is radiometric dating?
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What do you mean by heterozygous advantage

or heterozygote superiority?
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Define species.
G- HER! WIS |

Write the probable cause of late devonian

extinction.
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Answer any two of the following questions:

5x2=10
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2.
a)
b)
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How ABO blood is related to multiple alleles?
Define pleiotropy. 4+1=5
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How dosage compensation take place in
Drosophila? What do you understand by
coupling and repulsion? 3+2=5

(2)



d)
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Explain microsphere and coacervates. Write a
short note on modern synthetic theory.
3+2=5
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Define stratigraphy. Distinguish between

microevolution and macroevolution. What do

you mean by brachydont and hypsodont teeth?
1+2+2=5
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UNIT-11I

3.  Answer any one of the following questions:

10x1=10
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a)
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1)  Explain the following terms:
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A) Pericentric and Paracentric

Inversion
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b)

450/Z00l

B) Tandem duplication and Reverse

tandem duplication
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C) Silent mutation and Suppressor

mutation
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i1)  Define Tautomeric shift. What do you
understand by Interference and

Coefficient of coincidence.
(2+2+2)+(2+2)=10
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Distinguish among directional selection,
stabilizing selection and disruptive selection
with appropriate examples. What do you mean
by Alvarez hypothesis? Define K-T extinction.

6+2+2=10
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